EXAM M QUESTIONS OF THE WEEK

S. Broverman, 2006

Week of June 26/06

A select and ultimate life table with a one year select period satisfies UDD, with ¢,; = .1 and

Agy1 = .4 . Supposethat g, ischanged to .05, but al other mortality probabilities are
unchanged. Find the changein Ay, if i =.08.

The solution can be found below.



Week of June 26/06 - Solution

Using the original valueof ¢qp,; =.1,wehave A=A _ + vpp) - Auir

[2]:1]

] _.08
Under UDD, we have A[l] 1= % -A[% 1= o8 " Vi) = .096249 ,
and Aupq =4 Ay = 70 - (4) = 415795
Using the original vaueof ¢j,) = .1, we have
Ay = 096249 + g5 - (415796) = .4427 .
Using the new valueof ¢p,; = .05, wehave A %‘-A[}ﬁ =

[2]:1]
and A, = .415795 asbefore.
Using the new value of ¢(,) = .05, we have

Ay = 048124 + ;%% - (415796) = 4139 .

The changein Em isadecrease of .0288.

Alternatively,
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= B g (05— 1) + 155 - (95— .9)(415795) = —.0289 .

< - vg) = 048124,



